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Disquazioni logaritmiche

9. logx-1>
log x

2_ —
Pongo: log x =t = t—l—%>0 = u>0
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x>0

log (x —3) —1<

0
1+ logx

N>0:log(x-3)>1 = x-3>10 = x>13

D>0:logx>-1 = x>i
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x>0 = x>0 = 3<x<13
Xx—-3>0 X >3

9%. log:x-6log, x+8 >0
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3,1 _/4
Pongo: log, X =t = t*-6t+8>0 = = \/_—<

t<2 0t>4 = log,x<2 U log,Xx>4

x>0
= O<x<4 [ x>16
Xx<4 O x>16
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Disquazioni logaritmiche

97.  logy, (X* = 7x+12) —log,, (9-x*) >0

logy, (X* = 7x +12) >log,, (9 - x*)

X2 -7x+12>0 x<3 0O x>4 Xx<3 0O x>4
9-x*>0 = -3<x<3 = -3<x<3 =
X* =7Tx+12<9-x 2x2 = 7x+3<0 1.4<3
2
1<x<3
2

98 logZ x—4log,x+3<0
Pongo: log, x =t = t*-4t+3<0 = 1<t<3 =
1<log,x<3 = 3<x<27

3<x<27
= 3<x<27

x>0



